
Math 231 Homework 1: Solutions

Section 5.5 # 3,14,31,33,43,59,64,67
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5.5.14
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5.5.43 This integral needs to be split into two pieces which are handled differently:
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5.5.64
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5.5.67
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Section 7.1 # 1,5,8,15,18,35,43,47,62,63
7.1.1

I =
∫
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7.1.5
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∫
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7.1.8

I =
∫
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7.1.15

I =
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7.1.18

I =
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7.1.35

I =
∫
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=
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7.1.47

In =
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7.1.62 IMPORTANT: Recall that

log(ab) = log(a) + log(b)
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Integrating by parts gives

I =
∫
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Thus we have
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Since the height of the rocket at t = 0 is x(0) = 0 this gives
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Plugging in t = 60 (units are in seconds, problem asks for one minute height) gives

x(t) ≈ 50, 124


